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from time import *

def f(n):
if n<=1:
return n
else:
return f(n-1)+f(n-2)

def temps(n): # temps pour renvoyer f(n)
if n not in dico:
aux=temps (n-1)+temps (n-2)
dico[n]=aux
return dico[n]

def zec(N):
if N==1:
return [2]
else:
c=0
while f(c)<=N:
c=c+1
if N==f(c-1):
return [c-1]
else:
return [c-1]+zec(N-f(c-1))

def verifZec(L):
s=0
k=1len(L)
for i in range(k):
s=s+f (L[1])
return s

n0=35

t0=time ()

f (n0)

print (time()-t0)
tO=time ()

f (n0+1)

print (time()-t0)

dico={35:3.8087830543518066,36:6.219388723373413} #n0=35

#>>> temps(100)/3600/24/365/1000
e >4667.188737063703 millénaires pour renvoyer f(100)!!!!
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